Physics 20   Formula Sheet 
Kinematics
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Dynamics
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Circular Motion
[image: image22.wmf]12

2

g

Gmm

F

r

=

v

[image: image23.wmf]22

2

4

c

mvrm

F

rT

p

==

[image: image24.wmf]22

2

4

c

vr

a

rT

p

==


[image: image25.wmf]2

r

v

T

p

=

[image: image26.wmf]1

f

T

=

[image: image27.wmf]2

3

a

a

T

K

r

=


[image: image28.wmf]22

33

ab

ab

TT

RR

=

[image: image29.wmf]3

2

2  or  

ss

e

rR

TT

GMv

p

p

==












[image: image6.wmf]3/2

2

s

R

T

GM

p

=


Work and Energy
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Oscillatory Motion

[image: image38.wmf]mpk

WEEE

==+


[image: image39.wmf]max

k

vA

m

=




[image: image40.wmf]s

Fkx

=-

[image: image41.wmf]2

l

T

g

p

=





[image: image8.wmf]2

1

2

p

Ekx

=






[image: image9.wmf]sin

rg

FF

q

=


Mechanical Waves
[image: image42.wmf]2

m

T

k

p

=

[image: image43.wmf]vf

l

=

[image: image44.wmf]lvt

=D


[image: image45.wmf]1

f

T

=

[image: image46.wmf]1

2

o

L

l

=



[image: image10.wmf]w

ds

ws

v

ff

vv

æö

=

ç÷

±

èø


Vector Components
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Constants

Acceleration due to gravity Earth surface

a = - 9.81 m/s2
Gravitational field, Earth’s surface


g = 9.81 N/kg

Universal Gravitational Constant


G = 6.67 x 10-11 Nm2/kg2
Earth Mass






ME = 5.97 x 1024 kg

Earth Equatorial Radius




RE = 6.37 x 106 m

Speed of sound, 20°C




v = 343 m/s
Use for scrap paper if you wish.
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